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Question 1

Question Type: MultipleChoice

Which statement about TMS permissions is true?

Options:

A- TMS permissions are directly assigned to individual users.
B- TMS permissions are assigned to groups, and users are added to the groups.
C- TMS permissions can be imported from the Expressway or Cisco Unified Communications Manager.

D- TMS permissions are configured in Active Directory, which is then synched to TMS.

Answer:

B

Question 2

Question Type: MultipleChoice




In which two stages within the call processing order can an alias be changed by a rule into another form? (Choose two.)

Options:

A- conference template
B- find rules

C- transforms

D- search rules

E- hunt group

Answer:

C,D

Question 3

Question Type: MultipleChoice

In an H.323 call that is not interworked, which three signaling protocols are routed through the Expressway? (Choose three.)



Options:

A- RTP
B- Q.931
C- H.254
D- RAS

E- RTCP
F- H.245

Answer:

A EF

Question 4

Question Type: MultipleChoice

Which description of Cisco WebEXx Telepresence is true?

Options:




A- It is the Cisco term for a fully enabled on-premises collaboration solution.
B- It is a solution that allows on-premises endpoint to register to the WebEx meeting Center.
C- It allows endpoints on-premises to register to Cisco infrastructure in the cloud.

D- It is a Cisco WebEXx solution that allows integration between WebEx Meeting Center and on-premises collaboration solutions.

Answer:

D

Question 5

Question Type: MultipleChoice

Which two statements about the assignment of endpoints to a subzone are true? (Choose two.)

Options:

A- A registration restriction rule must be configured that matches the endpoint's alias or IP subnet.
B- Endpoints making a traversal call must be registered to the traversal subzone.

C- By default, all endpoints are registered to the default subzone.



D- By default, all endpoints are registered to the neighbor subzone.

E- A subzone membership rule must be configured that matches the endpoint's alias or IP subnet.

Answer:

C,E

Question 6

Question Type: MultipleChoice

An engineer must match any incoming call to the Expressway that is searching for an E.164 address of only 6 digits and append the
domain cisco.com to the end. Which pattern match and replace string using regular expressions accomplish this task? (Choose two.)

Options:

A- pattern match: ({6}*)
B- pattern match ({6}\d)
C- pattern match ({5)\d)

D- replace string: \6@cisco.com



E- replace string: \1@cisco.com

F- replace string: \$@cisco.com

Answer:

B, E

Question 7

Question Type: MultipleChoice

Which protocol is used to communicate codec capabilities and Real-Time Transport Protocol

ports?

Options:

A- Real-Time Transport Control Protocol
B- Session Description Protocol

C- H.460



D- Assent

Answer:

Question 8

Question Type: MultipleChoice

Which information can be retrieved from the Cisco event log on the Telepresence Server?

Options:

A- view and sort through conferencing events
B- view upcoming conferences
C- view registration events

D- view packet loss, jitter, and latency of a call

Answer:




Question 9

Question Type: MultipleChoice

What is the minimum number or databases that can exist within a cluster when deploying a resilient and scalable Cisco Meeting Server
deployment?

Options:

A- 4
B- 3
C-5
D- 2

Answer:
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